Impulse Ortho - RAF Extraction Tool

Order Number m OI ex

200199-1390
Application Tooling Specification

FEATURES

= This tool is designed to extract an Impulse RAF module from a PCB
= Extracts module without damaging the PCB
= Use tool 200214-0016 for inserting 7-pair by 16-column RAF modules

SCOPE

Products: Impulse Ortho Right Angle Female (RAF) Module, 7-Pair by 16-Column

Series No. Columns Assembly Order Number
173620-0016

173620-0056

173620 16
173620-1016

173620-3016

DESCRIPTION

Figure 1 illustrates the principal parts of the extraction tool.

WING KNOB

EXTENSION

CLAMP FRONT PADS (2) CLAMP REAR
Figure 1
Doc No: 2001991390 Release Date: 06-11-20 UNCONTROLLED COPY Page 1 of 4

Revision: B Revision Date: 06-11-20



Impulse Ortho - RAF Extraction Tool

Tool Restrictions

These tools require a “Keep Out Zone” around the module that must be free of components. The
rear of the module should have 5.00mm (.197") of clearance. The right and left sides should have

5.00mm (.197") of clearance. See Figure 2. This is a general requirement, regardless of the
module being extracted.

RAF MODULE

(BOTH SIDES)

KEEP OUT ZONE
Figure 2

Note: Be sure that all parts of the extraction tool will clear any components on the printed circuit
board during use. Tape may also be placed over circuit traces or on the bottom of the PCB support
for added protection of the printed circuit board.

TOOL OPERATION

Turn the wing knob counterclockwise so the clamp rear and clamp front are approximately 4mm
below the bottom edge of the extension pads. See Figure 3.

2. Turn the thumb screw counterclockwise so the clamp front can slide forward as shown in Figure 4.
3. Position the extraction tool over the outside walls of the RAF module. See Figure 5.
TURN WING KNOB
COUNTERCLOCKWISE
TURN WING \\/KQ
KNOB
COUNTERCLOCKWISE LIFTING
SCREW
TURN THUMB SCREW EXTENSION FRONT OF
COUNTERCLOCKWISE L~ PAD MODULE
4mm TURN THUMB g
FRONT T COUNTERCLOCKWISE CLAMP FRONT
FRONT
CLAMP REAR
Figure 3 Figure 4 Figure 5
Doc No: 2001991390 Release Date: 06-11-20 UNCONTROLLED COPY Page 2 of 4
Revision: B Revision Date: 06-11-20



Impulse Ortho - RAF Extraction Tool

4. Slide the clamp front onto the bottom lip of the front module by turning the thumb screw
clockwise. See Figure 6.

5. Continue turning the thumb screw until the clamp rear is pulled into position and is seated in the
recessed slots of the clamp rear.

KNOB TURNED

TURN CLOCKWISE

THUMB SCREW

( — = |
CLOCKWISE Q
[ O EXTENSION
n 1 PCB

PAD RESTING
ON THE PCB

CLAMP REAR
IN HOUSING
SLOTS

Figure 6

Figure 7
HOUSING RESTING ON
THE CLAMP FRONT
6. Make sure the clamp front and rear are in position before extracting the RAF module from the PCB.
7. Turn the wing knob clockwise until the extension pads contact the printed circuit board. See Figure
7.
8. Continue turning the wing knob clockwise until the RAF module is extracted from the printed circuit
board.
9. Move the extraction tool away from the printed circuit board. Turn the wing knob counterclockwise
and turn the thumb screw counterclockwise to release the module from the extraction tool. Discard
the module.

RAF MODULE ASSEMBLY REMOVAL (WITH MODULE ASSEMBLIES ON ONE SIDE)

When RAF modules are stacked end to end on one side, the extraction tool can be configured to allow
the extraction of the desired RAF module.

M5 x 14 LONG
SHCS
1. Remove the M5 x 14 long SHCS on the side where —

the extra module is located. See Figure 8. E C-FRAME

EXTENSION PAD
ROTATED 180°

=

2. Rotate the extension pad 180°. THIS SIDE ONLY
\
3. Reinstall the M5 x 14 long SHCS through the slot
near the end of the C-frame. MODULE
ASSEMBLY

4. Follow the tool operation instructions for extraction.

Figure 8

Doc No: 2001991390 Release Date: 06-11-20 UNCONTROLLED COPY Page 3 of 4
Revision: B Revision Date: 06-11-20



Impulse Ortho - RAF Extraction Tool

RAF MODULE ASSEMBLY REMOVAL (WITH MODULE ASSEMBLIES ON BOTH SIDES)

When RAF modules are stacked end to end on both sides, the extraction tool can be configured to
allow the extraction of the middle RAF module.

M5 x 14 LONG
1. Remove the M5 x 14 long SHCS on each the XSHCS D M5 XS}.,‘lC;ONG
side where the extra modules are located. - A
See Figure 9.
C-FRAME
N EXTENSION
2. Rotate the extension pads 180°. EXTENSION PAD Ju| PAD
ROTATED 180 ROTATED
N 180°
3. Reinstall the M5 x 14 long SHCS through MODULE MODULE
the slot near the end of the C-frame. ASSEMBLY ASSEMBLY
4. Follow the tool operation instructions for
extraction. Figure 9
MAINTENANCE

It is recommended that each operator of the tool be made aware of and responsible for the
following maintenance steps:

1.
2.
3

4.

Remove dust, moisture and other contaminants with a clean brush or a soft, lint-free cloth.
Do not use any abrasive materials that could damage the tool.

Make certain all pins, pivot points and bearing surfaces are protected with a thin coat of
high-quality machine oil. Do not oil excessively.

When the tool is not in use, store it in a clean, dry area.

CAUTION: Molex specifications are valid only when used with Molex terminals, applicators
and tooling.

Application Tooling Support

Phone: (402) 458-TOOL (8665)
E-Mail: applicationtooling@molex.com
Website: www.molex.com/applicationtooling

Molex is a registered trademark of Molex, LLC in the United States of America and may be registered in other countries; all other
trademarks listed herein belong to their respective owners.

Doc No: 2001991390 Release Date: 06-11-20 UNCONTROLLED COPY Page 4 of 4
Revision: B Revision Date: 06-11-20



	FEATURES
	SCOPE
	DESCRIPTION
	Tool Operation
	RAF Module Assembly Removal (With Module Assemblies on one side)
	RAF Module Assembly Removal (With Module Assemblies on both sides)
	Maintenance

